

Proposal #273161

Date: 2/1/2024

Customer:

Joan Colosimo Enclave at Naples Condominium Association 1295 Wildwood Lakes Blvd Naples, FL 34104

Service Address:

Enclave At Naples Condo Association 1295 Wildwood Lakes Blvd Naples, FL 34104

HOA Landscape Renovation- Building 1180

Building 1180



Left side of building 1180: Transplant existing Pygmy to marked area in front of tennis courts with 1.00 bag of red mulch. Where Pygmy palm was, install 1.00- 15 gallon Pink Powderpuff.



Left side of building below Mahogany tree: Complete removal of existing grass. Install .5 yard of top soil with 3.00- 3 gallon Red Ti and 8.00- 3 gallon sword ferns with 10.00 bags of red mulch.



Parking lot across from 1180 and 1170: WARRANTY 200 sq. ft. of sod from Proposal 259046.

No labor cost, remove and dispose existing grass below and around Oak tree. Install 1.00 yard of top soil with 18.00- 3 gallon Sword ferns, 3.00- 3 gallon Red-ti and 18 bags of Red Mulch.



Across from 1180 by parking garage: Remove existing sod, install 1.00 yard of top soil and 450 square feet of turf.

WARRANTY- Along side walk: 50 sq. ft. of sod to be installed.

Services Billed - Fixed Price on Completion

Description of Services Qty UOM Unit Price Total Cost

Enhancement/ Project

Labor - Removal / Prep	5.00			\$350.00
Debris Disposal Fee per Load	0.50	Each	\$280.00	\$140.00
Powder Puff Bush-Multi - Installed	1.00	#15	\$275.36	\$275.36
Red Mulch (2 cu) Installed	29.00	Bag	\$5.95	\$172.55
Fern, Sword	26.00	3 Gal	\$21.26	\$552.83
Cordyline, Red Sister - Installed	6.00	#3	\$28.41	\$170.46
Top Soil	2.50	Yard	\$141.75	\$354.38
Floratam Sod - Installed	-200.00	sqft	\$1.97	(\$393.48)
Floratam Sod - Installed	450.00	sqft	\$1.97	\$885.69
			Subtotal	\$2,507.79
			Tax	\$0.00
			Total	\$2,507.79

Greenscapes is not responsible for any damage to pipes, drains, or wires that are not clearly and accurately marked.

Prices are good for thirty (30) days from the date of the proposal.

Individual Homeowner Only ~ A 50% deposit is due upon acceptance and the balance is due upon completion for proposals over \$1,500.00.

Please note: Upon completion of this approved landscape renovation, a Post Irrigation Inspection will need to be performed to insure proper irrigation coverage. This inspection is not part of this proposal and will be billed on a time and material basis.

For any questions or concerns, please contact our office directly at 239-643-4471 or service@greenscapesfl.com.

By

Alexander Roman

Date

February 1, 2024

Greenscapes of Southwest Florida

Bv

Date

Enclave at Naples
Condominium Association

Proposal 273161